
 
PLOW MOUNT INSTALLATION INSTRUCTIONS 
      11-14 JOHN DEERE GATOR XUV 825i 
    2009 GATOR 620i / 2013 GATOR 855D 
 
                      PART# 4501-0632 
 
Install plow mount as illustrated. The narrow side of the mount will go toward the rear of the machine along with the 
push tube mount tabs. The front of the mount will use the square U-bolts. The round U-bolt will go to the back. 
 
Hang the U-bolts over the frame tube in their locations. Place the plow mount up over them and secure using the 
washers and nylock nuts. 
 
The push tube will pin up to the tabs with hardware provided in push tube box. 
 
(NOTE: You may cut off any extra U-bolt threads if needed.) 
 
 

 

QUESTIONS OR COMMENTS PLEASE CALL:  320-964-1616 (7:00 to 4:30 CST, Monday through Thursday).                                                                                             

INST2758PF 

ITEM QTY. PART# DESCRIPTION
1 1 2758-100 Plow Mount Plate
2 2 HDW9218 5/16 x 1-1/2 x 2-3/4 Rd. U-Bolt
3 2 HDW9060 5/16 x 1-1/2 x 4 Sq. U-Bolt
4 8 HDW7058 5/16 Nylock Nut
5 8 HDW9002 5/16 Flat Washer


